(BlFR4) RREORBRRAERICETIEEYRAERR (TH23FE)

1. K GlE#515%%)

E=E Lt Dfs 8 SE 3
mxz AR EEBE% 2R ke | mae |EERR
BRIAH | sk EEEE (mg/ke) (mg/ke) BAA R (mg/ke)
7YX AMAEY 5 0 — 0.2 0 0.02
AV TBFFS5 3 0 — 10 0 0.02
(344507 YKR 8 0 — 1 0 0.02
AR ) ITF7 1 0 — 0.05 0 0.02
IXTAAHILT 2 0 — 0.02 0 0.01
Iz JavHR 15 0 — 0.5 0 0.02
XYoo oaiky 13 0 — 0.05 0 0.02
HhoxoAkO—)L 1 0 — 0.02 0 0.02
oaFF=Uy 11 0 — 0.7 0 0.02
DITIZV 26 17 (0011 ~ 0072 2 0 0.005
Ay TITFIL 3 0 — 0.1 0 0.05
DARAR) 7 0 — 0.1 0 0.01
AR 1 0 — 0.05 0 0.01
EEPN=D) 9 0 — 0.1 0 0.03
FF AT L 3 0 — 0.3 0 0.02
FIILYIK 3 0 — 0.5 0 0.02
| 10 2 | 008 ~ 0.2 3 0 0.05
EUS /NI AF)L 8 0 — 0.05 0 0.02
Foxoy 3 0 — 0.2 0 0.02
Jz=kOF 7 (MEP) 10 0 — 0.2 0 0.05
J954K 18 1 0.02 1 0 0.02
JA40—)L 5 0 — 0.1 0 0.05
ZILSZ)L 6 2 [ 009 ~ 027 2 0 0.02
JLFSoa—iL 10 0 — 0.03 0 0.01
JOEJFR(REFREXESD) 15 7 002 ~ 013 0.7 0 0.02
L IJLt—k 1 0 — 0.05 0 0.02
AESEXUI 14 0 — 0.1 0 0.02
A2z tvbk 1 0 — 0.05 0 0.02




2. /hEF GRFE- 458K

EERFULDOIER

RERE

HEEE

o SHrTEE p - EERF

REs BEH | i | RERErok) | oo | Bam | ek
7VEAMAEY 1 0 — 0.3 0 0.02
RECI=PII 4 0 — 0.05 0 0.02
Ik JAavHR 1 0 — 05 0 0.02
GLIFXDLAFIL 10 0 — 0.1 0 0.02
SINITT=HhY 16 0 — 0.1 0 0.02
2JovzL 5 0 — 05 0 0.005
FARUAIWTROFAH—D) 6 0 — 0.05 0 0.05
T7a+V—) 22 0 — 2 0 0.05
RJZILS— )L 5 0 — 1.0 0 0.05
KJZILSY 21 0 — 0.1 0 0.005
RILOORRAFIL 1 0 — 0.1 0 0.03
ESOIL TV IFIL 5 0 — 0.02 0 0.02
2= AF A (MEP) 9 0 — 10 0 0.01
Jx2 T —KPAP) 3 0 — 0.4 0 0.02
J2ILhS=)L 1 0 — 2.0 0 0.02
Jorary—IL 16 0 — 1.0 0 0.1
RUOTAARY 12 0 — 0.2 0 0.01
A70=)L 4 0 — 2 0 0.03
=== 7 0 — 0.2 0 0.02




3. K% GAM% S#A)

[—F=1 .DJ: 4 . 5
B AL .EEBE% — e | ey | eams
BRIAH | mik EEEE (mg/ke) (mg/ke) AR R (mg/ke)
SINITT=HhY 1 0 — 0.1 0 0.02
T7a+V—=) 1 0 — 3 0 0.05
R)ZILZS— )L 3 0 — 1.0 0 0.05
KJZILSY Y 1 0 — 0.1 0 0.005




4. K2 (GRHE:5084)

EERFLULDOIER

mxz e T . Sk |mip |EEER
BRIAH | mik EEEE (mg/ke) (me/ke) AR R (mg/ke)
7tEIJx—k 2 0 — 05 0 0.01
7VELAMAEY 9 0 — 0.5 0 0.02
7590—)L 5 0 — 0.2 0 0.02
AREYHILD 2 0 — 5 0 0.05
Iz JAavHR 16 0 — 0.2 0 0.02
oaFF=UY 17 0 — 0.1 0 0.02
HavIJxz/OFK 1 0 — 0.5 0 0.02
£~B00428=JL(TPN) 2 0 — 0.2 0 0.01
LTFIVI7ER 1 0 — 0.3 0 0.02
<7 /IRA(CYAP) 2 0 — 0.1 0 0.02
oyaJx F A (ECP) 2 0 — 0.03 0 0.01
DITIZYV 5 1 0.009 0.1 0 0.005
PEINIP; 2 0 — 05 0 0.1
SRJLARYY 6 0 — 0.05 0 0.05
rAary—I)L 1 0 — 0.2 0 0.02
DATFER 9 0 — 0.05 0 0.02
AT/ 2 0 — 0.1 0 0.02
FF AT L 15 0 — 0.02 0 0.01
FARAIWTRUOFAH—D) 13 0 — 0.02 0 0.05
FIILARL XA 6 0 — 0.1 0 0.02
KJZILSY 4 0 — 0.15 0 0.005
EYSY)L 1 0 — 0.2 0 0.02
2= AF A (MEP) 14 0 — 0.2 0 0.02
2z F A4 (MPP) 1 0 — 0.02 0 0.01
Jx2 kT —RPAP) 4 0 — 0.05 0 0.02
Jx\LL—b 1 0 — 0.20 0 0.05
LR R—b 1 0 — 0.10 0 0.02
pi=PE N 2 2 025 — 043 2 0 0.05
JOFAHRR 6 0 — 0.05 0 0.02
Jairk) 4 0 — 0.1 0 0.02
RILAR) Y 4 0 — 0.05 0 0.01
W% VP 11 0 — 0.05 0 0.02
RUOTAAR)Y 11 0 — 0.2 0 0.01
< atI(xUED) 3 0 — 3 0 0.02
EVEI 1 0 — 0.2 0 0.05
AIZRTRR 2 0 — 0.05 0 0.01
AESEDIL 2 0 — 0.05 0 0.02
AS5H0—)L 2 0 — 0.2 0 0.02
=== 24 0 — 05 0 0.02




5. A-FSH GAHE481%1K)

EERFLULDIER

mEs ABBH RERR | BT rams
REH | ikl | BERE(me/ke) | (meke) | sy | Mk
7tA3TYK 7 2 [ 007 ~ 009 3 0 0.02
7tIorz—k 2 0 — 0.5 0 0.01
7YX AAEY 3 1 0.03 5 0 0.01
AVFYFF 4 0 — 0.1 0 0.03
A47a 4> 2 0 — 5.0 0 0.05
(34 HaTYK 4 0 ~ 3 0 0.02
IkTzo7AavsR 21 9 [004 ~ 042 5 0 0.02
% 1 0 — 0.2 0 0.01
HXYHRR 1 0 — 0.01 0 0.01
HAFF=—Tv 15 1 0.05 2 0 0.01
oAavIxz /oK 3 0 ~ 5 0 0.02
£0)L27)L7Xay 1 0 ~ 20 0 0.05
LTV I7ER 4 1 0.05 5 0 0.02
SINDTIAILD 3 0 — 5.0 0 0.05
DI)TITV 8 5 | 0013 ~ 0.1 2 0 0.005
IRIVARIY 15 5 [ 006 ~ 016 5.0 0 0.05
TAREILD 1 1 0.01 10 0 0.01
BATO) 2 0 — 0.1 0 0.02
FT7AFY L 12 0 — 0.3 0 0.02
Fo51 1 0 — 0.2 0 0.02
KIS 1 0 — 0.05 0 0.01
EYFRL 1 1 0.04 2.0 0 0.03
Jrx=—rOFA(MEP) 9 0 — 0.5 0 0.02
JzEOFT A—k 4 3 [ 003 ~ 009 20 0 0.02
LA T 1 0 — 5 0 0.03
ANFUFFTIHIR 2 0 — 2 0 0.02
ARILAR) Y 6 0 — 3.0 0 0.02
ISFAN(ITI) 3 0 — 20 0 0.03
*Y3)L 4 0 — 0.5 0 0.02
AFZRRR 2 0 — 0.5 0 0.01
AZo0—)L 5 0 — 0.3 0 0.02




6. SPVAITA GREE 481&1K)

et | EERFULOBR | m@sf | #EEE| opns
B S Ay} 3 n=
REE e | BE | REEE e | ool | BEXD | ek

FrA3ITYE 20 5 003 ~ 2 3 0 0.02
TJXAOEY 11 7 [006 ~ 039 3 0 0.01
AVEHFA 1 0 — 0.1 0 0.03
(354907 YK 18 1 0.26 3 0 0.02
IkozJOvHR 6 0 — 5 0 0.02
HOFF=DY 7 2 | 005 ~ 014 05 0 0.01
~20)L2)L7RXAY 1 0 — 2.0 0 0.05
DRIV AT FILFFARY) 1 0 — 0.2 0 0.01
DARI—F 3 0 — 1 0 0.1

BATI/Y 2 0 — 0.2 0 0.02
FTAEY L 7 1 0.05 0.3 0 0.02
RITTA/—IL 4 0 — 1 0 0.02
R)T7 ARy 4 0 — 0.2 0 0.02
EUSJIL 2 2 | 017 ~ 034 3 0 0.02
Zx=bOFF(MEP) 1 0 — 05 0 0.02
J1x> kI —NPAP) 2 0 — 0.1 0 0.02
JzoEOF T A—}b 3 0 — 2.0 0 0.02
ZILTCHFYZL 25 4 [ 003 ~ 016 5 0 0.03
J)ox/HAAY 10 3 (003 ~ 009 1 0 0.02
ANEFTIHIR 7 3 005 ~ 012 2 0 0.02
RILARYY 4 0 — 3.0 0 0.02
ISFAU(ISVY) 7 0 — 2.0 0 0.03
AS5H0—)L 2 0 — 0.3 0 0.02




7. ICALA GREE481&1K)

EERFLULDIER

wxs AR REER | LAEE | rema
BRIAE | ks = FE B (mg/ke) (me/kg) BAA R (mg/ke)

T7VEXZROEY 2 0 — 1 0 0.01
AVXHFF 2 0 — 0.1 0 0.03
47asH*y 7 1 0.05 5.0 0 0.05
RV I=PII 1 0 — 0.4 0 0.02
XYL 6 0 — 0.20 0 0.01
XV 5 0 — 0.2 0 0.01
Fr¥TH 1 0 — 5 0 0.01
IJLYFDLAFIL 9 0 — 0.3 0 0.02
£~0a420=)L(TPN) 9 0 — 1 0 0.01
<40)LRA(DDVP) 1 0 — 0.1 0 0.01
DITIZV 1 1 0.021 0.7 0 0.005
SRILARIY 3 0 — 0.05 0 0.05
DARI—F 3 0 — 1 0 0.1
AE /YK 4 0 — 0.2 0 0.02
AT/ 6 1 0.08 0.5 0 0.02
FATHILT 8 0 — 0.5 0 0.01
FIILRJY 8 0 — 0.1 0 0.02
k)4 0)L7(DEP) 8 0 — 0.50 0 0.01
R)ZILZ—)L 1 0 — 1.0 0 0.05
KJZILSY 5 0 — 1 0 0.01
RILOBRZAFIL 1 0 — 2.0 0 0.01
212 T —RPAP) 3 0 — 0.1 0 0.02
JAZHRR 5 0 — 0.03 0 0.01
RILAR) Y 2 0 — 0.1 0 0.02
RUTAAZYY 19 0 — 0.2 0 0.01
RANAYE 3 2 [ 002 ~ 003 0.7 0 0.02
RAFF7HE—hk 18 0 — 0.2 0 0.02
ISFFAUI(RSYY) 1 0 — 0.5 0 0.03
AV3)L 13 0 — 0.5 0 0.02
AES5EDIL 2 0 — 0.05 0 0.02
J=E1=p 13 2 0.02 1 0 0.01




8. [F<&Ly (GA# 3 SOt&K)

E= L EDF e s P
e A ‘EEBE% S ki | map | EERER
BRIAE | ks = E B (mg/ke) (me/kg) Bk R (mg/ke)

7+HA3ITYR 9 0 — 0.5 0 0.02
FTtIT—hk 13 1 0.24 5.0 0 0.01
7YX ZOEY 6 0 — 3.0 0 0.01
47asH*y 10 0 — 5.0 0 0.05
RECVI=PII 19 1 0.06 05 0 0.02
AKX HILD 14 2 002 ~ 029 1 0 0.01
Iz JavHR 4 0 — 5 0 0.02
XV 19 8 0.01 ~  0.26 2 0 0.01
$1JL73NJJL(NAC) 1 0 — 1.0 0 0.05
Fr¥TH 4 0 — 5 0 0.01
JLYFVLAFIL 6 0 — 2 0 0.02
HYAFTFT=U 10 0 — 0.3 0 0.01
207 FE I 9 2 [ 002 ~ 004 0.5 0 0.02
£0)L2)L7XAYv 2 0 — 2.0 0 0.05
~0a420=)L(TPN) 24 13 002 ~ 075 2 0 0.01
LTIV I7ER 7 1 0.02 2 0 0.02
<7 /iR A(CYAP) 1 0 — 0.05 0 0.02
<40)LRA(DDVP) 1 0 — 0.1 0 0.01
DITIZV 11 10 [ 0006 ~ 0075 14 0 0.005
gk 1 0 — 1.0 0 0.05
DARI—F 2 0 — 1 0 0.1
TANEILD 3 1 0.01 2.0 0 0.01
SEXFYII 1 0 — 0.2 0 0.02
AE /YK 8 0 — 8 0 0.02
AT/ 2 0 — 0.1 0 0.02
FFANEY L 10 0 — 2 0 0.02
FATHILT 1 0 — - 0 0.01
FIILRJY 1 0 — 0.1 0 0.02
FIILARL XAV 2 0 — 0.5 0 0.02
rSOAR) Y 2 0 — 0.5 0 0.01
cJTZILS) Y 3 0 — 0.05 0 0.01
FILOBRZAFIL 2 0 — 2.0 0 0.01
MLz ESK 15 0 — 0.5 0 0.02
EYSY)L 14 3 [ 004 ~ 005 1 0 0.02
Jx kI —MPAP) 4 0 — 0.1 0 0.02
JxALL—F 10 1 0.3 3.0 0 0.05
JAZRR 1 0 — 0.01 0 0.01
LR 3R—b 1 0 — 0.50 0 0.03
J)LJx/HRAY 1 0 — 0.5 0 0.02
TILRUOFIR 22 8 [ 001 ~ 005 5 0 0.01
RILAR) Y 2 0 — 5.0 0 0.02
RUTAAZYY 1 0 — 0.2 0 0.01
RAAYE 6 5 [ 003 ~ 025 3.0 0 0.02
XTFFA(RZYY) 8 0 — 2.0 0 0.03
AV3)L 15 3 002 ~ 007 2 0 0.02
AIZRRR 13 3 001 ~ 015 2 0 0.01
AESFI 14 3 [002 ~ 005 0.3 0 0.02
XD /OR 1 0 — 7.0 0 0.02
JLozXAay 8 1 0.14 1 0 0.05




9. LAR (GRAME50%K)

et | EERFULOBR | m@sf | #EEr| oopns
B THT V7o 5 =
REE i | B | REBBGe | oon | BAD | ek
7+HAITYR 2 0 — 5 0 0.02
FtIT—hk 4 0 — 5.0 0 0.01
7YX ZAOEY 11 2 002 ~ 005 30 0 0.01
EI=Pr 16 2 | 008 ~ 028 10 0 0.05
FECVI=PII 10 1 0.02 3 0 0.02
AKX HILT 2 0 — 14 0 0.01
Iz JavHsR 1 0 — 2 0 0.02
XY=V 19 1 0.03 0.7 0 0.01
HYOFF7=Uv 21 4 [ 001 ~ 006 20 0 0.01
HavIz/OFR 1 0 — 2 0 0.02
4a)L7xFE)L 4 1 0.34 20 0 0.02
£~0a420=)L(TPN) 10 0 — 1 0 0.01
LTIV I7ER 2 0 — 10 0 0.02
I AIIVT 4 0 — 5.0 0 0.05
<40)LRX(DDVP) 1 0 — 0.1 0 0.01
SITIS5V 6 4 (0006 ~ 0015 5 0 0.005
DILRYY 1 0 — 2.0 0 0.05
IRILARIY 3 0 — 2.0 0 0.05
AE/ YR 2 0 — 8 0 0.02
AT/ 2 0 — 0.1 0 0.02
FFANEY L 17 1 0.03 3 0 0.02
FATHILT 3 0 — - 0 0.01
FIILRJY 1 0 — 0.5 0 0.02
FIIARL XAV 1 0 — 1 0 0.02
KJZILS Y 1 0 — 0.1 0 0.01
RILOBRZAFIL 5 1 0.06 2.0 0 0.01
RILDIVESK 9 3 004 ~ 022 10 0 0.02
EUSJIL 8 0 — 20 0 0.02
212 T —RPAP) 1 0 — 0.1 0 0.02
Jzo/\LL—F 10 2 | 005 ~ 091 20 0 0.05
J)LJx/HRAY 1 1 0.49 10 0 0.02
TILRUOFIR 21 4 [ 001 ~ 002 15 0 0.01
JOL 3Ry 8 6 [ 005 ~ 052 5 0 0.03
RILAR) Y 2 0 — 3.0 0 0.02
RANYE 4 0 — 20 0 0.02
ISFFAU(ISVY) 11 0 — 2.0 0 0.03
AY3)L 13 0 — 5 0 0.02
ARZRRR 4 0 — 1.0 0 0.01
XD /OR 1 0 — 30 0 0.02
S 1= 2 0 — 1 0 0.05




10. JOval— (Gl 481&1E)

EERFLULDIER

mxz ko ad I ki | mae | EEER
BRIAY | miam = FE B (mg/ke) (me/kg) BAAR (mg/ke)
EPN 2 0 — 0.1 0 0.03
FEA3ITYR 7 0 — 2 0 0.02
7tI7x—k 13 0 — 5.0 0 0.01
AVXHFF 2 0 — 0.1 0 0.03
A REE Y AT 2 0 — 0.2 0 0.01
AXxVI=vIE 7 1 0.02 0.2 0 0.01
HJaFF7=_Uy 9 0 — 1 0 0.01
~a<w2Jx /R 1 1 0.08 2 0 0.02
2Ol FE)L 8 0 — 1 0 0.02
~20)L2)L7Xav 8 0 — 2.0 0 0.05
£~0040=)L(TPN) 4 0 — 5 0 0.01
LTV IFER 8 0 — 1 0 0.02
DITISV 3 0 — 2 0 0.005
AE/HR 9 0 — 2 0 0.02
BATO/Y 3 0 — 0.1 0 0.02
FTAEHY L 8 1 0.17 2 0 0.02
F2ILR) 1 0 — 0.5 0 0.02
TR XAV 4 0 — 1 0 0.02
rJZILSY 4 0 — 0.05 0 0.01
FLIZIVESK 3 0 — 1 0 0.02
EUFYIL 9 0 — 2 0 0.02
J470=Z)L 1 0 — 0.05 0 0.003
21 I —RPAP) 4 0 — 0.1 0 0.02
Jzo/\LL—F 2 0 — 2.0 0 0.05
PE RS 1 0 — 0.02 0 0.01
J)L o /HAAY 2 0 — 5 0 0.02
TR DFER 2 1 0.11 5 0 0.01
ARILARYY 8 2 0.03 2.0 0 0.02
RAAUK 1 0 — 3.0 0 0.02
IIFAN(IZIY) 2 0 — 5.0 0 0.03
AYSIL 12 1 0.1 2 0 0.02
ARZIRERR 13 0 — 1.0 0 0.01
AES5EDIL 11 0 — 0.5 0 0.02
AELTT/OR 3 0 — 5 0 0.02
JLozXAy 1 0 — 2 0 0.05




11. WD GREE. 491&81K)

E= L EDF e s P
. it [ PP AL ORR RERE | L2RE | cams
BRIAY | miam = FE B (mg/ke) (me/kg) Bk R (mg/ke)

THoUFRI 16 1 0.1 2 0 0.01
F7EAITYR 28 9 | 005 ~ 073 3 0 0.02
7YX AMOEY 24 4 | 006 ~ 067 10 0 0.01
AVEHFA 1 0 — 0.2 0 0.03
A7AvAy 5 2 0.2 ~ 1.1 20 0 0.05
1354907 YK 1 0 — 0.5 0 0.02
AVEXH AT 12 0 — 1 0 0.01
IhEHY—IL 15 4 003 ~ 023 05 0 0.03
HXHHRR 1 0 — 0.05 0 0.01
FrTE 14 1 0.05 20 0 0.01
ILYEXDLAFIL 13 6 003 ~ 058 5 0 0.02
~av I/ K 3 0 — 05 0 0.02
4a)L7xF+EIL 21 0 — 5 0 0.02
~20)L2)LF7RXAY 11 0 — 2.0 0 0.05
7YY I7ER 5 0 — 0.7 0 0.02
I AIIVT 23 0 — 5.0 0 0.05
Sox/afFJ—IL 3 2 0.02 5 0 0.01
LINITTF IR 11 1 0.04 0.7 0 0.02
RJLAR) D 1 0 — 2.0 0 0.05
AE/HF 6 0 — 1 0 0.02
AT/ 3 0 — 0.1 0 0.02
FFHATYR 9 4 | 006 ~ 055 5 0 0.03
FADHILT 1 0 — 1 0 0.01
ThoVRY 5 1 0.4 1 0 0.03
FI2x/OK 1 0 — 1 0 0.02
FTI)IJIESK 7 1 0.02 1 0 0.01
FIILARL XAV 9 0 — 1 0 0.02
k)4~ 0JL7R(DEP) 10 0 — 1.0 0 0.01
RJTILSV—)IL 24 0 — 2.0 0 0.05
ETILE/—IL 30 2 | 003 ~ 037 1.0 0 0.02
EARY 11 0 — 2.0 0 0.03
EUFYIL 26 0 — 5 0 0.02
Ey7ox oIy 2 0 — 0.3 0 0.02
2xFUEIL 7 0 — 1.0 0 0.1

2z =rOFF(MEP) 1 0 — 0.2 0 0.02
2x/7hJLJ(BPMC) 1 0 — 2.0 0 0.01
JzoEOF T A—f 1 0 — 0.5 0 0.02
Jxo70O/8R)Y 3 0 — 5 0 0.02
TILToFFVY=IL 17 0 — 5 0 0.03
J)ox/HAAY 17 2 0.04 0.5 0 0.02
IR OFER 24 2 | 001 ~ 005 2 0 0.01
JOvIRy 7 5 | 004 ~ 39 10 0 0.03
ANELVFFTIHIR 13 2 | 003 ~ 006 2 0 0.02
RILARYY 1 0 — 1.0 0 0.02
RRAAYKR 4 4 | 017 ~ 2.8 15 0 0.02
RAFT7E—F 1 0 — 0.05 0 0.02
RSFAUN(IFY) 9 0 — 0.5 0 0.03
Svi=pr =y 19 4 005 ~ 015 1.0 0 0.05
AYSIL 18 0 — 1 0 0.02
AEZFVIL 7 0 — 7 0 0.02
AFLT/OR 3 0 — 2 0 0.02
AIS=EY L 24 10 | 004 ~ 1.3 10 0 0.02
JLozXAay 21 4 007 ~ 038 1 0 0.05




12. E—<> (Gl¥E 508%1%)

EERFLULDIER

wxs A REER | LAEE | rema
BRIAY | mism = E B (mg/ke) (me/kg) Bk R (mg/ke)

ToUFRIY 6 2 | 002 ~ 003 1 0 0.01
F7EAITYR 15 4 | 004 ~ 045 1 0 0.02
7o —k 2 0 — 5.0 0 0.01
7YX AOEY 4 0 — 3 0 0.01
A7AvAy 10 1 0.13 10 0 0.05
1354907 YK 20 3 | 007 ~ 008 3 0 0.02
AVEXH AT 4 1 0.05 1 0 0.01
IkozJOvHR 2 1 0.32 5 0 0.02
AXHINL 3 0 — 2.0 0 0.01
ILYEXDLAFIL 3 1 0.09 2 0 0.02
HaFF7 = (ERE) 1 0 — 3 0 0.005
HaFF7 VU (—FikK) 13 4 0.01 ~ 027 3 0 0.01
4a)L7xF+EIL 21 2 007 ~ 015 1 0 0.02
JoO)L2)LF7ROY 4 1 0.14 2.0 0 0.05
£~00420=JL(TPN) 26 7 0.01 ~ 1.4 7 0 0.01
7YY IFER 3 0 — 1 0 0.02
/TS 15 7 |0008 ~ 034 3 0 0.005
LW IF3R 3 0 — 1 0 0.02
RIJLAR) D 2 0 — 2.0 0 0.05
AE/HF 16 1 0.03 2 0 0.02
AT/ 6 0 — 0.1 0 0.02
FFHATYR 1 0 — 5 0 0.03
FTAEY L 6 1 0.04 1 0 0.02
RJZILSV—)IL 5 0 — 5.0 0 0.05
RILDIUESK 3 0 — 3 0 0.02
EARY 2 0 — 3.0 0 0.03
EUSJIL 15 5 | 003 ~ 053 2 0 0.02
2xFUEIL 1 0 — 0.5 0 0.1
2x/7H)LJ(BPMC) 1 0 — 2.0 0 0.01
JzoEOF T A—b 4 0 — 0.5 0 0.02
J)ox/HAAY 7 0 — 1 0 0.02
IRV OFIR 7 4 [ 003 ~ 005 3 0 0.01
JOvIRy 10 10 [ 004 ~ 1.8 5 0 0.03
ANFFFTIHIR 1 1 0.04 2 0 0.02
RILARYY 5 0 — 3.0 0 0.02
RRAAYKR 4 2 | 002 ~ 006 10 0 0.02
RAFT7E—F 1 0 — 0.1 0 0.02
RSFAUI(IFY) 1 0 — 0.5 0 0.03
Svi=p =y 6 2 | 007 ~ 013 1.0 0 0.05
AYSIL 2 1 0.27 0.7 0 0.02
AAZIRTRR 2 0 — 2.0 0 0.01
AEZFVIL 4 0 — 2 0 0.02
A2FHFF2(DMTP) 1 0 — 0.1 0 0.02
AFLT/OR 1 1 0.04 3 0 0.02
JLozXAay 9 1 0.06 1 0 0.05




13. bk GRAEE.511&K)

E= L EDF e s P
e AW ‘EEBE% S ikl | dne | EEER
BRIAY | s = E B (mg/ke) (me/kg) Bk R (mg/ke)

Fr33ITYE 17 8 002 ~ 007 2 0 0.02
7tIJx—k 4 1 0.22 5.0 0 0.01
7YX RAOEY 5 2 003 ~ 004 3 0 0.01
470 4y 7 2 0.21 ~ 029 5.0 0 0.05
(3IF a7k 15 2 002 ~ 004 2 0 0.02
IkDz 7Oy R 7 2 002 ~ 0.2 2 0 0.02
FyTH 8 1 0.01 5.0 0 0.01
JaFF7=_Uy 11 1 0.04 3 0 0.01
o0l FE)L 4 1 0.06 1.0 0 0.02
2027 Xav 3 0 — 2.0 0 0.05
~0040=)L(TPN) 33 7 0.01 ~ 025 5 0 0.01
LTV IFER 9 0 — 2 0 0.02
CIRIIVAILD 14 0 — 5.0 0 0.05
C/TISV 23 8 0006 ~ 0075 2 0 0.005
21D 2 0 — 0.5 0 0.05
oJx/a+J—) 3 2 0.01 0.5 0 0.01
I ITTF SR 1 0 — 0.5 0 0.02
IRIJILAN) D 1 0 — 2.0 0 0.05
DAREILD 2 1 0.02 3 0 0.01
EXFYZIL 8 0 — 2 0 0.02
AE/HR 6 0 — 0.5 0 0.02
FF7HyATYR 4 1 0.05 1 0 0.03
FFTANFHY L 1 0 — 2 0 0.02
TR XAV 4 0 — 0.5 0 0.02
R)ZILEJ—)L 13 0 — 2.0 0 0.05
FILTIVESK 5 2 [ 005 ~ 008 2 0 0.02
EYARY 16 0 — 1.0 0 0.03
EYSYIL 7 2 005 ~ 017 5 0 0.02
EyJo¥xi oy 4 0 — 1 0 0.02
IzFUEIL 1 0 — 0.5 0 0.1
Tz =—rBFF(MEP) 1 0 — 0.2 0 0.02
JzoEQF T A—} 5 2 002 — 003 0.5 0 0.02
JxJANMN)Y 1 0 — 2 0 0.02
J7O7zov 7 2 005 ~ 008 1 0 0.05
JLTFFYIL 14 2 [ 005 ~ 006 2 0 0.03
J)LI7x/HAAY 10 0 — 0.5 0 0.02
TR DFER 5 2 0.01 ~ 004 1 0 0.01
JOL 3Ry 1 0 — 5 0 0.03
RRAAUK 18 12 | 004 ~ 097 5 0 0.02
KRAFT7E—F 6 0 — 0.2 0 0.02
AFZIRERR 4 1 0.09 2.0 0 0.01
AES5EDIL 6 1 0.04 2 0 0.02
AINZEY) L 5 0 — 5 0 0.02
JLozXAay 13 0 — 05 0 0.05




14. BE GEE%10081K)

E= L EDF e s P
e AR ‘EEBE% S ki | map | EERER
BRIAE | ks = E B (mg/ke) (me/kg) Bk R (mg/ke)

EPN 12 0 — 0.1 0 0.03
7EAITYR 12 1 0.52 45 0 0.02
7YX AOEY 45 7 0.01 ~ 052 10 0 0.01
AVEXHFF 6 0 — 0.1 0 0.03
A7asH*y 23 1 0.07 5.0 0 0.05
RECV =PI 3 0 — 0.7 0 0.02
Iz JavHR 3 1 0.26 2 0 0.02
XV 13 1 0.03 2 0 0.01
JLYFDLAFIL 15 1 0.06 2 0 0.02
oaFF7=—o2 (@RIiE) 1 1 0.014 0.7 0 0.005
IaOFF7 o (—FiE) 54 9 0.01 ~ 009 0.7 0 0.01
4a)L7xFE)L 4 0 — 3 0 0.02
£0)L2)L7 XA 2 0 — 2 0 0.05
£~0a420=)L(TPN) 31 2 0.01 5 0 0.01
LTIV I7PER 6 1 0.03 2 0 0.02
o907z F A (ECP) 2 0 — 0.03 0 0.01
<40)LRX(DDVP) 2 0 — 0.1 0 0.01
DRIV AT FILF A ARY) 3 0 — 0.5 0 0.01
DITIZV 32 16 | 0006 ~ 3 5 0 0.005
oo)NRo XAy 2 0 — 1 0 0.02
SRILARIY 40 3 [ 006 ~ 028 5.0 0 0.05
DARIT—F 15 0 — 1 0 0.1
TANEILD 6 0 — 2 0 0.01
AE /YK 11 0 — 5 0 0.02
AT/ 21 0 — 0.1 0 0.02
FFANEY L 14 3 0.1 ~ 026 2 0 0.02
T7arJ—JL 1 0 — 0.5 0 0.05
FIILRJY 3 0 — 0.5 0 0.02
FIILARL XAV 1 0 — 1 0 0.02
R)ZILS—)L 6 0 — 1.0 0 0.05
cJTZILS) Y 2 0 — 0.1 0 0.01
FILOBRZAFIL 4 0 — 2.0 0 0.01
FLDTUESKE 23 6 [ 003 ~ 012 5 0 0.02
EYSY)L 10 5 007 ~ 2 5 0 0.02
Jz=+AF A (MEP) 10 1 0.09 0.2 0 0.02
I kI —MPAP) 7 0 — 0.1 0 0.02
JAZRR 2 0 — 0.03 0 0.01
JILES=)L 17 7 0.01 ~ 005 1 0 0.01
J)LJx/HRAY 3 1 0.13 10 0 0.02
TILRUOFIR 4 2 0.02 3 0 0.01
JOJ kY 2 0 — 5 0 0.03
RILAR) Y 4 1 0.06 3.0 0 0.02
RUTAAZYY 19 0 — 0.2 0 0.01
XTFFA(RZYY) 7 0 — 8.0 0 0.03
2oaJEz)L 2 0 — 1.0 0 0.05
AV3)L 19 0 — 2 0 0.02
AES5EDIL 23 0 — 0.2 0 0.02
AIN=E L 1 0 — 10 0 0.02
J=E =D 1 0 — 0.2 0 0.01
JLozXAay 3 1 0.09 2 0 0.05




15. [F5NAES GRFE: 1011(K)

&

RELUELEDHER

B ko ad I ki | Hae | EEER
BRIAY | mism = FE B (mg/ke) (me/kg) BAAR (mg/ke)
7EEITYR 1 1 0.08 3 0 0.02
7550—)L 14 0 — 0.01 0 0.01
AVEHFA 2 0 — 0.1 0 0.03
(354907 YK 12 5 [ 008 ~ 1.3 15 0 0.02
FrTE 11 0 — 5 0 0.01
IaFF=Uy 2 0 — 3 0 0.01
LFYI7ER 23 13 [ 005 ~ 1.8 25 0 0.02
2498 J)LARR(DDVP) 11 0 — 0.1 0 0.01
CITISV 2 2 |0024 ~ 0044 15 0 0.005
RJLAR) D 28 9 | 006 ~ 1.8 2.0 0 0.05
AE/HE 5 1 0.03 8 0 0.02
AT/ 22 0 — 0.1 0 0.02
FTAEY L 2 0 — 10 0 0.02
FI7ILR) 4 1 0.11 0.5 0 0.02
TR XAy 2 1 0.02 5 0 0.02
Zx=hOF A (MEP) 3 0 — 0.2 0 0.02
J1x> kI —NPAP) 2 0 — 0.1 0 0.02
JzoEOF T A—b 2 0 — 0.5 0 0.02
J)ox/HAAY 40 30 | 003 ~ 2.7 10 0 0.02
RILARYY 2 0 — 2.0 0 0.02
ISFAU(ISVY) 3 0 — 2.0 0 0.03
AYSIL 11 0 — 5 0 0.02
AESFDI 16 0 — 2 0 0.02
7oz )L 1 0 — 0.7 0 0.02
L+ 12 0 — 0.3 0 0.03




16. 126 (BLH . 981&{K)

SR

EERFULDHER

RERE

HEEE

. : B - EEMRF
RS i | B | BEBBG | oon | BAD | ek

7tA3TYK 32 10 [ 003 ~ 075 5 0 0.02
7YX AROEY 25 16 003 ~ 3 5 0 0.01
RECVI=PII 2 0 — 1 0 0.02
JLYFDLAFIL 52 36 002 ~ 29 30 0 0.02
HOFF=Iv 31 17 [ 002 ~ 092 15 0 0.01
SRIVARIY 42 14 | 006 ~ 1.6 6.0 0 0.05
DARIT—F 25 1 0.2 1 0 0.1

AE/ YK 19 5 [ 006 ~ 032 5 0 0.02
AT/ 1 0 — 0.1 0 0.02
FFANEY L 5 1 0.03 2 0 0.02
RJZILSY—)L 4 1 0.13 5.0 0 0.05
JAZRR 2 0 — 0.05 0 0.01
IULSHEYZI 26 15 | 004 ~ 8 10 0 0.03
JOFAHRR 12 0 — 0.1 0 0.03
RUOTAAZYY 7 0 — 0.05 0 0.01
AY3)L 1 0 — 2 0 0.02
AFEF A (DMTP) 13 0 — 0.1 0 0.02
J=E1=p 5 0 — 0.2 0 0.01




17. 282 (B3 504%1K)

EERFLULDIER

wxs AT REER | LAEE | rema
BRIAE | ks = FE B (mg/ke) (me/kg) Bk R (mg/ke)
ToVFE) 1 0 — 0.2 0 0.01
7+tA3ITYR 7 0 — 0.5 0 0.02
7YX AOEY 5 0 — 1 0 0.01
47asH*y 6 0 — 10 0 0.05
RECVI=PII 25 2 [ 002 ~ 004 0.4 0 0.02
IrFHY—IL 6 0 — 0.2 0 0.03
Iz JavHR 6 0 — 2 0 0.02
F¥TH 1 0 — 5 0 0.01
JLYFDLAFIL 4 0 — 1 0 0.02
HaFF7=Uv 17 4 [ 001 ~ 002 0.3 0 0.01
£~0a420=)L(TPN) 27 0 — 2 0 0.01
LTV I7ER 3 0 — 0.05 0 0.02
<48)LRX(DDVP) 2 0 — 0.1 0 0.01
DITIZV 11 9 |0006 ~ 023 1 0 0.005
oJx/a+V—)L 1 0 — 0.1 0 0.01
I ITTFEK 2 0 — 0.02 0 0.02
SRILARIY 1 0 — 2.0 0 0.05
JEXYZIL 5 0 — 0.1 0 0.02
AE/ YR 4 0 — 0.3 0 0.02
AT/ 1 0 — 0.1 0 0.02
FrHaFYR 8 0 — 1 0 0.03
FFANEY L 3 0 — 0.3 0 0.02
FTI)IJIESK 5 0 — 0.1 0 0.01
K)7OA/—)L 1 0 — 0.5 0 0.02
R) T AR 1 0 — 0.1 0 0.02
k)4 0)L7(DEP) 1 0 — 0.50 0 0.01
rJZILSI—)L 15 0 — 2.0 0 0.05
KJZILS Y 2 0 — 0.05 0 0.01
EJx k) 2 0 — 0.2 0 0.01
B~y 7 0 — 1.0 0 0.03
EUSJIL 2 0 — 0.05 0 0.02
Jz=rOF 7 (MEP) 4 0 — 0.05 0 0.02
JAZRR 2 0 — 0.05 0 0.01
JILINY R— 4 0 — 0.1 0 0.01
J)LJx/HRAY 8 0 — 0.02 0 0.02
JOY 3Ry 12 11 004 ~ 014 3 0 0.03
ANFUFTIIR 1 0 — 0.5 0 0.02
RILAR) Y 4 1 0.02 0.1 0 0.02
RANYE 1 0 — 1.6 0 0.02
RAFF7HE—hk 3 1 0.03 0.5 0 0.02
ISFAU(RSYY) 2 0 — 8.0 0 0.03
2oaJEaz)L 1 0 — 1.0 0 0.05
AES5EDIL 11 0 — 0.7 0 0.02




18. L AT GRAE. 98#K)

TEBERULEOHFER s 3
wxs AT = REER | LAEE | rema
BEH | ikl | BRERE(me/ke) | (meke) | ks | Mk
FEHAITYR 15 3 [ 002 ~ 15 5 0 0.02
O ETN == 23 14 [ 003 ~ 81 30.0 0 0.01
1VXHF4 14 0 — 0.1 0 0.03
IJLYFDLAFIL 25 8 002 ~ 1.2 30 0 0.02
SI)TFIS5V 35 31 0007 ~ 47 20 0 0.005
J)\JT/HZRA 47 26 | 003 ~ 3 10 0 0.02
RILAR)S 4 1 0.04 3.0 0 0.02




19. YAZ (GAFiEh. 50%1K)

EE LI ED% g s 5
mxz AR .EEBE% o ki | ag |EERE
E3Z% RIAEL = FE B (mg/ke) (me/kg) Bk R (mg/ke)

TOUFR)Y 4 1 0.01 0.5 0 0.01
F7HAITYR 41 17 [ 002 ~ 005 2 0 0.02
A7aSHy 1 0 — 10 0 0.05
e o e |2 1 0 — 05 0 0.03
$1JL731J JL(NAC) 12 0 — 1.0 0 0.05
FrTEy 41 9 | 001 ~ 016 5.0 0 0.01
ILYFDLAFIL 13 1 0.07 5 0 0.02
HOFF7=y 26 0 — 1 0 0.01
~20J)LEYRR 41 0 — 1.0 0 0.02
202 F7AXAY 7 0 — 20 0 0.05
£~ 00428=JL(TPN) 4 0 — 2 0 0.01
7 /TRA(CYAP) 16 0 — 0.2 0 0.02
< r)a2(DCMU) 1 0 — 0.05 0 0.02
DI)TISV 12 12 [ 0007 ~ 0049 05 0 0.005
oaryy 27 0 — 0.4 0 0.05
<2Jx/aFJ—)L 32 0 — 1 0 0.01
STV 16 0 — 1.0 0 0.05
oI XAV 4 1 0.03 1.0 0 0.02
2JodzL 23 1 0.07 5 0 0.03
SRILAR Y 7 0 — 2.0 0 0.05
BATO/ 14 0 — 0.1 0 0.02
FyoaJYR 25 3 | 003 ~ 004 2 0 0.03
FTAEY L 1 0 — 0.3 0 0.02
ThZa+Y—IL 1 0 — 0.5 0 0.02
T7aFrV—L 23 0 — 0.2 0 0.05
FI2x/OFK 7 0 — 1 0 0.02
TI71IESK 3 0 — 0.5 0 0.01
FIILR XAV 6 0 — 0.5 0 0.02
rSAAR) Y 8 0 — 0.5 0 0.01
r)7RFSRFAEY 37 13 [ 002 ~ 006 3 0 0.02
ETILE/—IL 1 0 — 0.6 0 0.02
EJz k)Y 4 1 0.02 1 0 0.01
EYERY 2 0 — 2.0 0 0.03
2+ JEIL 10 0 — 1.0 0 0.1
2z =rEaF A (MEP) 5 1 0.02 0.2 0 0.02
71 I —RPAP) 12 0 — 0.1 0 0.02
Jxo7a/88) 12 11 005 ~ 012 5 0 0.02
J70710y 4 0 — 2 0 0.05
J)Lox/HxRAY 2 0 — 1 0 0.02
IR OFER 6 1 0.03 1 0 0.01
JaFAHRR 3 0 — 0.3 0 0.03
AFHaFy—IL 14 0 — 0.5 0 0.01
ANFUFFTIHR 1 0 — 1 0 0.02
RRAAYK 36 17 [ 002 ~ 005 3.0 0 0.02
Si=pE =y 3 0 — 5.0 0 0.05
AFHFA(DMTP) 26 0 — 0.5 0 0.02
AIS=EY L 2 0 — 2 0 0.02




20. 33 (B3 501%1K)

EERFULDOIER

wxs S REER | LAEE | rama
Bmix% RIREL = FE B (mg/ke) (me/kg) AR R (mg/ke)

ToVFR)Y 13 0 — 0.2 0 0.01
7E5ITYR 39 6 [ 002 ~ 014 2 0 0.02
7VEAAEY 10 0 — 0.05 0 0.01
FTo=h)\LD 3 0 — 2 0 0.01
(7asxky 5 0 — 10 0 0.05
(3544907 YKR 12 0 — 05 0 0.02
TXFVI=vIE 1 0 — 0.3 0 0.01
FrTEy 1 0 — 15 0 0.01
GLIFDLAFIL 17 0 — 1 0 0.02
oaFF=Uy 12 4 0.01 ~ 004 0.7 0 0.01
~0)LE)RR 28 0 — 1.0 0 0.02
£~B00428=JL(TPN) 9 0 — 2 0 0.01
<7 /IRA(CYAP) 2 0 — 0.2 0 0.02
< )0 (DCMU) 1 0 — 0.05 0 0.02
DITIZV 9 5 [0007 ~ 013 3 0 0.005
PINIP; 2 0 — 1.0 0 0.05
AE /YK 9 0 — 0.2 0 0.02
AT/ 12 0 — 0.1 0 0.02
FFHaTYR 18 4 [ 006 ~ 012 1 0 0.03
FF AT L 2 0 — 0.5 0 0.02
FATHILT 3 0 — - 0 0.01
T7a+V—=) 27 0 — 1 0 0.05
FIIARL XA 2 0 — 0.3 0 0.02
rSOxR)Y 4 0 — 0.5 0 0.01
KJZILS—)L 5 0 — 2.0 0 0.05
kJyzoFL AMOEY 3 0 — 0.2 0 0.02
MLz ESK 2 0 — 0.2 0 0.02
ETILE/—IL 9 0 — 1.0 0 0.02
EJx k)Y 3 0 — 0.03 0 0.01
EYFRy 1 0 — 2.0 0 0.03
2xFYEIL 5 0 — 1.0 0 0.1
2= AF A (MEP) 7 0 — 0.2 0 0.02
J1 kI —RPAP) 2 0 — 0.1 0 0.02
Jx\LL—b 1 0 — 5.0 0 0.05
Jx ANy 6 0 — 1 0 0.02
J7a7Ioy 29 0 — 1 0 0.05
JI)LN) R—k 1 0 — 0.2 0 0.01
J)LJx/HRAY 15 0 — 0.1 0 0.02
IR FIR 13 0 — 0.05 0 0.01
~AFHary—)L 13 0 — 0.1 0 0.01
RILAR) Y 22 0 — 2.0 0 0.02
RAAE 7 1 0.03 0.2 0 0.02
RSIFFN(ITIY) 2 0 — 0.5 0 0.03
AYE)L 3 0 — 2 0 0.02
AFHEFA(DMTP) 7 0 — 0.2 0 0.02
J=ET=P 1 0 — 0.2 0 0.01




21. 5&S5 GRHEU508K)

= > e 57 8 5 5
mEs i = SR SOBR | RERR | BEEE saps
RS | kM | RERE(me/ke) | (roke) | mbksy | Me/ke)
ToVFR)Y 12 1 0.02 2 0 0.01
7E5ITYR 29 4 [ 002 ~ 008 5 0 0.02
7tIJr—k 12 3 [002 ~ 004 5.0 0 0.01
7YX AAEY 24 19 0.01 ~ 034 10 0 0.01
(7asrky 6 2 007 ~ 027 25 0 0.05
(354907 YKR 23 12 002 ~ 014 3 0 0.02
IhFHY—IL 2 0 — 0.5 0 0.03
$1JL731JJLINAC) 3 0 — 1.0 0 0.05
FrTEy 24 3 002 ~ 087 5 0 0.01
GLIFXDLAFIL 19 6 003 ~ 1.0 15 0 0.02
oaFF=UY 16 6 002 ~ 0.15 5 0 0.01
2Lz FEI 20 4 002 ~ 007 5 0 0.02
£~B00428=JL(TPN) 3 0 — 0.5 0 0.01
LTFII7ER 10 2 0.08 10 0 0.02
CIrIIAIID 6 0 — 5.0 0 0.05
DITIZYV 11 3 [0009 ~ 0012 10 0 0.005
PP 4 0 — 1.0 0 0.05
2JodzL 23 6 | 004 ~ 034 5 0 0.03
SRJVAR) Y 4 1 0.07 2.0 0 0.05
ANEILD 5 0 — 5 0 0.01
SEXHZIL 28 0 — 1 0 0.02
AT/ 3 0 — 0.1 0 0.02
FFHaTYR 6 2 [ 003 ~ 005 5 0 0.03
FFAEY L 6 1 0.06 2 0 0.02
T7a+V—=) 11 2 005 ~ 024 10 0 0.05
TI2zESK 3 0 — 0.5 0 0.01
rSOxR)Y 12 1 0.01 0.5 0 0.01
k)~ 0)L7R2(DEP) 2 0 — 0.50 0 0.01
KJZJILS—)L 4 0 — 2.0 0 0.05
kJZOFLRAMOEY 2 0 — 5 0 0.02
EJx k)Y 3 2 | 001 ~ 003 2 0 0.01
2= AF A (MEP) 22 0 — 0.2 0 0.02
71 kI —RPAP) 4 0 — 0.1 0 0.02
JroEOFS A—fk 3 0 — 2.0 0 0.02
Jx ANy 1 0 — 5 0 0.02
J7a7Ioy 10 0 — 1 0 0.05
2ILTHFIZI 23 2 | 004 ~ 008 5 0 0.03
JI)LN) R—k 11 0 — 2.0 0 0.01
IR FIR 1 0 — 2 0 0.01
JOFAHRR 1 0 — 2.0 0 0.03
RILAR) Y 10 3 010 ~ 016 5.0 0 0.02
RAAE 1 1 0.16 10 0 0.02
RSIFFN(ITIY) 10 0 — 8.0 0 0.03
AIZRTRRA 12 2 0.02 3 0 0.01
AESEUI 2 0 — 1 0 0.02
AFHEFA(DMTP) 10 0 — 1 0 0.02
AIR=E L 8 2 | 004 ~ 006 15 0 0.02




